JAELRUR(R) IoEARERT=P) VY

(45 : 8K30% « FikFE © 98%004)
[£ ] /NEKET-MEET-FREHRT—MEE
[ ] /INEKETRT—MgE
[# $E] /NBKET-HEM-BFEMBETEELSBLUVRAR—YE



ol 8 ¢ 3 ¢ (TTIT Y AST F )%V (&
v e Xy | NONCRI/ UxE L4K O B | I | LLL
34 %4 xq [4 [/ £ ST A EIL LEd) | B | €le
3 Ll Xy 4 \[/gh Bt (¥T LAY (=5 ¥H | B |l
94 €3 xy 14 \[/gh Bt L& LTAUL E M | B | LIe
o 0l 2 £ \[gh B o (LKL dise ¥L | € | LIE
53 6 xq 14 ORI/ L KA % Hil | B | a1y
i 6 Xy 14 /g B Ef4 /42 Har A | B | viv
|54 6 xy 4 R/ AL L4 e fHhd | E | €Ly
1€ 6 xy 14 ORI/ LT L) 4 g | | B |y
1€ 6 xy 14 \[/ H K& X LL L) KLm Hif <7 | @ | LY
0¢ 8 22 g [/ H [ LT T FF T | S ] LLG
8¢ 9 H I \[NCEE Y L1 L&A Y Him | | ¥01
8¢ 9 & | [/ JeL 743 YH A | E | €01
8¢ 9 & | \[/ H e NEEIE A SHIW T B | 201
8¢ 9 & | [/ H [l LKl LyKLHo XYy & | B |10l
LE g & Z [/ £V (FALL YE ¥L | F | 10C
8¢ 14 H € OB 5L O£ W7 #t | B | v0e
9¢ 14 H € [N R/ yartl K44 el MY | ¥ | €0¢
9¢ 14 & € |NNNEW| TrlA ALK L e | & | 2o
8¢ 14 H € N KL Ly &Le Y7H A&7 | B | 1og
LC € H 14 VB | anLl ol Loy | H—9 HE | FE | eov
LC € H 14 NIGEEE N Lyl K21 Yoo HEn | 8 | cov
g€ € H 14 NIGEEEN JV& LTk YHE i | 4 | Lob
Ve ¢ H g NIGEEEN PRVA = (=S4 HTE ¥ | W | 10
14 ! & 9 N2 N by T £ 4% 3L | B | 209
G¢ I H 9 \[NCRE Y AVAN A Hgn | B [ 109
woGgz  wEO0l  wooSL  wpolL  weoS &YW @ FHE 0 ZHE £.u4Nc o | =Y

B— ONY—1%F NPY BE—L£EF%H




s rere
------------------- H R G e
(B =)D (BA==H)
1. Bl &F 1. Bl &lE
2. XKaRHL\ED 2. LJxY—#:F
3. KEWEH 3. XKaRHLI\ED
4. I/7:|:'J—§JII/1_< 4. AEDlElE
5. EFEE
6. D&l
................... j( % ’Q Br———————
ZEXREE N = 7K ii]) & A R sh &
AN = o INBKBE AT —-—bFBEER J\ K B IE
g K & K MEHNAT-—-—bFHBEE X @B E 7
B EBEH AT — M EE RO B WM
X = & B INBKBHBZTEZTHER m B\ kR =
MENHBEBZTESTHER M H F B
BEHNH#BEEZTESTHER ¥=2H WM A
INBEBKBEIAR—-—YHEE J\ K B IE
MEHAR-—-—YiHEsE B 3 E S
BEH AR -—-—YimEsE g N %
KEEBBER INBKBEIRAT— MG EBER oA F —
AEEEBEBXRE MEXST—LFEBEBBER Xx I # =
BEHAT-—FBSEBBEER B W & B
------------------- KB TOYTS Ly wmemmmemrm e
= B FE = B FE
No e Tem] | mm No T e || mm
1 |6l 8| 500m | 1] 2] 900 K - R§2
2 |5 L] 500m | 1] 1 25 |/h6| B |1500m| 1| 2 [ 10:30
3 |mal | 500m | 1| 3 26 |/hn5( 8 | 1500m
4 |3 B 500m | 1] 4 Aa— PR BE
5 M2 B 500m | 1] 1 27 |4l B[ 1000m| 1| 2 | 1045
6 M| B| 500m| 1| 4 28 |/h3| B |1000m| 1| 2
7 |h6]| & | 500m 29 [/v6| % | 1000m
8 |5 % | 500m | 1| 1 30 |/hn5( % | 1000m| 1 | 1
9 (4| % | 500m | 2| 5 31 |/ma| % |1000m| 1 | 3
10 [/n3] % | 500m | 1 | 1 32 [/v3| % | 1000m
11 |Mm2] % | 500m| 1| 1 Aa— PR BE)
12 |/M1| % [ 500m 33|/Mm6| B | 250m 11:15
Aa— PR BE) 34 |/m5( B | 250m | 1| 1
13 |me| B | 100m 9:45 35(mal B[ 250m | 1 | 1
14 |5 B | 100m 36 /3| B 250m | 1 | 2
15 |/ha| B | 100m 372 B 250m | 1 | 1
16 |[/h3| B | 100m 381 B | 250m | 1 | 4
17 |2 B | 100m 39 /6| & | 250m
18 [/M1| B | 100m 40 [/v5| & | 250m
19 |/h6| % | 100m 41 |4 & | 250m | 1 | 2
20 [/v5] & | 100m 42 [/Iv3| & | 250m [ 1 | 1
21 |/v4| & | 100m 43 [Iv2| & | 250m [ 1 | 3
22 [/v3] & | 100m 44 |/Iv1| & | 250m [ 1 | 1
23 [m2] % | 100m | 1 | 2 BA k=% 27 | 52
24 [v1| % | 100m | 1 | 1 x®x ¥ e




.................. -3 B
nR

A 5 - 5 -
PIRYI KR —-5H5—

F—=0I04ZVIASAIVIPYY
J4Zwvwoas4Ivpwvwy

F—DeHALF— /K-
PIRIVBF—094LF—/\—
5 4 L F — N -

S v O Y vy Y
8 b2 g =
8 '] g

o
A
il

[
&
il

S
il

W
i
il

o>
o
g;l_l
il

>t
o §§

&

N

>t W

>R &E 8
B

X
B O WMDE H

$ m HA+H
P

22!

=
-
>
>t

£> Ir i
E

W iF

&= M

* e

1

MW

=

=

\
|

IE (V)
8 (B8

& (V)
— GRE)

g (V)
t (BE8)

= (DEFE)

% (R8)
— GRE)

Z (IV#)
t (DER)
— (#8)
1 (BE)
o (B8
A (#8)
U ))
— (V)
2 (V)
8 UMV&)
(V)
g (WEHoB)
£ (3F)

2 (i)
T (RE)

B (vR)

INBKH RS —MER

WU

£ ()

7N

ik

=
3t

o

13

W

K

e

o

\
[

il

&

&8

=i

= (®RB)

g (f#8)

= (REB)

8 (WEE)
® (DEH)

X (DEE)

A (\i#R)

— (B8

X (BE)

2 (&)

3 (V&)

£ (V)

A (\i#R)

¥ (DEFEFHOB)

32 (1vi#R)
B GBE)



RBE=—RE— B RT — FRRAR R —E(R6 + 2 « AKX TE)

F o MRl B B K e Fh B 50 % o £
BF| 250m| WBEZBR | NEK 307 .66| Tm28HE
sk s | ZF| 260m| @ A= LR 307, 78| T2 24
%&1 %fﬁ =+ p— N
B8F| 500m| WBEZBR | NEK 67 72| Tm2sHE
ZF| 500m| AKiEgH== ] 6O 56| Tl 74
B287| 250m| X F A KX ] 307 63| TmossE
i | ZF| 250m| I B B Z | hEK 347 56| T2 7HE
N e e T 500m| & F B A | »E 501.02| wmoss
ZF| 500m| AKiEgH== ] 50f).85| i1 84
5F 500m| 17 &8 %0 2 NBE% 507 07| 1Bie6 2%
Desrgges | ZF| 6500m| KiggZ= ] 56%).38| Tm1 9
PR I3FHE —
EF| 1000m| I 168 X =2 NB%% 190477 03| Bf6 24
ZF| 1000m| KigH== NE | 1959m.62| wm1 9
5F 500m| 1 &8 0 18 TBE% 48f) 08| 1BF6 24
s g e | LF 500m| # & =% & NNk 547 .07| 1Bf6 24
MR AP ST T 000m] w & 70 8 | 8% | 15431.00] 8625
ZF|1000m| K & # ®© | d3=E | 1954 15| ¥m1 35
B5F 500m| 17 &8 #0 18 TBE% 48 56| 1B8F06 34
i meae | ZF] B500mM| N Ik E | INEK 50 45| Im2 45
NS E e T T 500m| A W = & | B | 2839H.08| Tii 38
ZF| 1000m| M Ik E | hEK | 1944025 wmoan
BF| 500m| o B FE H | NEK 43782 w1 7E
st s | LT 500m| F 8 I B N 487 07| 1Bi6 245
N ST T 500m| 3 & & & | WAK | 2521.10] #mi 7
ZF| 1000m| M Ik E | mEKx | 1941022 wmoss
27| 500m| B 2 B # ] 4170 14| Tmo7E
qF 500m| & W # F B8 467) 09| 1BfH6 0F
DER  [BF| 1500m| K — 8 BB | 291902 wm1 35
ZF|1000m| 5 W %0 F =L 1937#.08| 1Br6 o
87| 3000m| T & IF = NE | 4943002 EHOTHE
sty | BT |000MR | EBBAF -4 8 | 39217.08| w624
ZF|000mR YEAF— A W& 3D358.04 | BF5T7HE
e | BF|O00mR | miEkF—n | mEk | 3004100 BRsssE
ZF|000mR B B2 F — A B2 3D217).09| BFf6 o0&
<R3 0FEES IOAELDFIEE > XIBENT ZAE T8 - AR TY
= F (MRl 8 B | K 2 | mE | 2 2 | & =
Vi 1 B2 55 100m| @ B K — INEK 245 20| FHRI0F
ZF| 100m| EBBED is] 26 27| HIRALF
i | BF| 100m| IV W BB | hEK 187).00| w304
N T T oom| PBaGE | BT 101.65| SH55
ko | BT | 260m| & 18 B F | IEK 417 25| BFSHE
ZF| 250m| @ ® B 12 | NEK 42/ 81| BR4HF
i A e | BT 250m| B & @ A = 34731 /5=
DA 2T oo0om| = B » & | B2 20W51| DISE
INEROSFFE | BF 250m| & & 41 & 58 35 A7 BF5E




No1

B 5 4OFBEE=OIX E— R T — RERAR

INE 6 FFBF500m

REH KEF ER (UVEK) 43W82[FEL 1 7 F]
(= K % JUHS o &k | ME|BE| B OE
5| T ¥ & F | 7 vavxr | 55°34 2 | 2 | JAuEkN
Tlag|® B TgsE | vrro »oar | 4973 1 1 IS 7K
e
<[@EE> No2/J\F 5 F£5F500m
No2 /J\#5%5F500m SE® Uit At (BF) 481b56[RA6 3 4]
&® K # JUHF i OBk | MHE | B | B OE
| £ F T & | #rEY avv | 72"36 3 1 SEE |\
1
*H
<[EE> No1/\E 6 F£5F500m
No3 /\#4 %5 F500m SR\ Uit Ats (8 487H03[RA6 2 4]
(=} K % JUHS i k| ME|BE | B OE
B|EH R #—BR | 2495 vorFav| 61799 2 2 s\
Tl e B & X v 745 | 57’78 1 1 SEEE |\
Wlw| @ & 8 A | »ves 500 | 6377 3 3 SEEN
<[@EE> No5/)\F 2 F£5-F500m
No4 /\#3F5F500m KRR\ AL Mz (BF) 50W07[EA 6 24
(= K % JUHS o &k O|ME|BE | B OE
F| T E X XK FIN TS 70744 2 2 =%
Tl & B 8 2| 559 nrer| 91744 4 4 IINE 7K
M2l 5 B B & |59 wrval 90°1 3 3 IS=/
H| & F & K |3avsrs vv5| 63799 1 1 B E /I




B 5 4OFBEE=OIX E— R T — RERAR

No5 V¢ 2 #%¥500m LEH AT WA GIB) 59MO2TH 2 8]
& 5% % VAN T O | HEE |HRE| B OE
| & &F E KX | nrEY &1 | 71734 4 1 EEE |\

1

H

<[ElE> No3/\F 4 F B F500m

No6 /\3# 1 £ 35-F500m KLEGR I ETE (NEK) 67R72[TERM 2 8 4
& K 4 JYVHF X O | HBE |BE | ' OE
5L H & X vy Uy 84790 1 1 IINTB 7K

&gl % | A >/ F¥h | 92794 4 4 SEE/N

W m| x T mAZ | 5z cor | 83a | 3 | 3 | AN
| o ¥ B K |3vyrs Ty 87721 2 2 51 E /)

No8 /J\i# 5 &% F500m 255 IR E (NBK) S0PMB[TR 2 44
& K 2 JUHF T O] |BEE |REeE| B OE
|k L B B | sAT av7 | 59771 2 | 1 =P

1

H

<[EE> No8/\F 5 FF500m

No9 /¥4 FZF500m ot FE £ (L) 54707[HE6 2 4]
& 5% % AN T O | HEE |RE| B OE
x| F OB Z2 ¥ Y4k 17 | 55"57 1 1 I KN

Tigk| n = & B |a9wsss 7| 7045 | 3 | 3 =10

H

<[EIE> No9/\F 4 FLF500m




B 5 4OFBEE=OIX E— R T — RERAR

No9 /¥4 FZF500m a5t FE £ (I|L) 54707[HE6 2 4]
& 5% % VAN T O | HEE |HRE| B OE
H{lL B & 4 vy FF 60769 1 2 INTB 7K

218 | ¥ B 9 | es5/ 93 | 8450 | 2 | 4 | EERA

W& | /| B ©2| vrrw ave | 87740 3 5 IS 7K

No10 /I\% 3 F3XF500m £33 A HSE (NE) 56Was[TH 1 O]
& K 4 JYVHF X O | HBE |BE | ' OE
K|l & F B B | »+EY 28%| 85790 2 1 SEE/N

1

H

<[EE> No11/\F 2 T2 F500m

No11 /I 2 5205 500m LTH KR MEE BVD) 5oWES[TH 1 8]
& K 2 JYUHF T O] |BEE |REeE| B OE
m| B R B | 2475 ax/ | 83793 1 1 SEEE )\

1

H

<[EE> No10/\FE 3 FELZF500m

No23 /I 2 F£Z4F100m
& 5% % AN T O | HEE |RE| B OE
Bl H B AEE Fh/ =F32 19765 1 1 EEEE |\

Tlal@ & = & | »oss <+ | 28014 | 2 | 2 = E |\

H

<[EFE> No24/NE 1 FLXF100m




No24 /MNFE 1 FLF100m

No25 /I\Z 6 FEF1500m

B 5 4OFBEE=OIX E— R T — RERAR

=icix BR BFD (BR) 26W27[%i04 5]

® K % 7Y L% | MHE | BE | B E
| B H Bk R 544 EEH | 31783 3 1 IS 7K\

<[EE> No23/\E 2 FLZF100m

ARITH KE EH (NBEK) 2921819(FM 1 7 4]

5] K % U T O | HEE |REeE | B &
BT ¥ B F | /0 vayxs 25806 | 2 | 2 | /EKN
V|5 B aee | voro noc [ 23773 | 1 | 1| skl
8
No27 /NFAFFFI000M  somm wu Mt (BF) 14431096 2 4
& K % 7YHF i OB OB |KEe | B OE
B| & FE BB | 2495 vorrav| 222768 | 2 2 s\
Tl M & K| sv¢ o549 | 211784 | 1 | 1 =5\
#2
No28 WFIFEZFI000m  somp wir M2 (8F) 1947036 2 4]
= K % YA i OBk | MEE | B | B OE
T T &8 x XK FIN vy | 235747 | 2 2 IINE K
gl o T & K |avves 29| 21267 | 1 | 1 S/
#8




No30 /N\ZFE 5 FEZF1000m

No31 /NFE4FZLF1000m

B 5 4OFBEE=OIX E— R T — RERAR

Kk Ik E (INEK) 19447025 2 4 5]
& 5% % Y7 T O | HEE |HRE| B OE
wlXx I B E FAHT 297 | 207799 4 1 EE =PI

<[EIE> No31/NE 4 FZZF1000m

REEHFE AE #76 (PE) 1954W15[FR 1 34
& K £ 7Y HF £ O | HEE | BRE| " OE
H|l WL H & 4 <5 ++ | 158”19 3 3 IINB 7K
| F B & £ | v1rv 17 | 154726 1 1 IS 7K\
| ~ ¥ # B |2avyr> 7YX 1'57"76 2 2 £ 1=
<[EE> No30/\E 5 FZF1000m
No34 /I35 FEF250m
& K 2 JYUHF Ok (| HIE | BE | B B
| & F I ® | »rEy avv | 35"17 2 1 SEEE )\
<[EE> No35/\F 4 F B -F250m
No35 /NE 4 FBF250m
= K % JYUHF L% | MHE | BE | B E
| B N B AN | hvnss Sah| 34731 1 1 SEEE |\

<[EE> No34/\FE 5 FEF250m




No36 /I\F 3FEBEF250m

B 5 4OFBEE=OIX E— R T — RERAR

ik BN B|A (BE) 43¥73[%H14 F]

& K £ JUHF L% | MHE | BE | B E
| B H gl B | 999 A1tr | 45"54 3 2 IS 7K\
T2l s B8 & & |95 wrva| 41725 | 2 | 1 | x2amzsm
H
<[EE> No37/\F 2 FEEF250m
No37 /%2 F55F250m 236 AT A GIE) 30W63[TH 2 8 &
(o) K % JYUHF LK | BE | BE| B OE
L1l &2 Z B K| nrev vy | 3951 1 1 EE/
1
|
<[EE> No36/\F 3 FEF250m
No38 /\i# 1 £5F250m L6 WIE BER (INBK) 30166[TR 2 8 4]
& K % JYUHF Ok (| HIE | BE | B B
5L H =& X vy UY 42766 3 3 IS 7K )\
1 =Y B OH A S/ FFh 42”31 2 2 EEEE |\
Ml e | & sT mAZ | +5z eer | 4328 | 4 | 4 | =mEN
| & ¥ B K [3vs«> Ta5| 42701 1 1 B H |\
Nod1 /N\F 4 FEZLLF250m
& K £ JUHF L% | MHE | BE | B E
5| F B 2 | 3/ v3a | 40751 1 1 BRI
Tl m E 5 © | vre 29| 43723 2 2 I KN
H
<[EFE> Nod2/\F 3 FLZF250m




No42 I\ 3FEZF250m

B 5 4OFBEE=OIX E— R T — RERAR

SEEk AAE B (NBEK) 427814 F04 &)

& 5% % VAN T O | HEE |HRE| B OE
c|l = ZF B E | »rEY abF| 52"7 3 1 EEEE )\
1
H
<[EE> Nod1/\FE 4 FLZF250m
Nod3 /\iF 2 % F250m 256 Wit BB (NEK) 34W56[THR 2 7 4]
(o) K 4 JYUHF LK | BE | BE| B OE
Bl fh B ALRE | 5/ =53 | 46”81 2 2 SEE |\
&l & B 855 | 2995 ax/| ar0a | 1 | 1 =g |,
Mgl e 8 = & | nvss v+ | 7003 3 3 SEE/
<[EE> Nod4/NE 1 FLXF250m
Nodd /N 1 FZF250m 2 BN £ (ILR)) 39W78[FH 2 2 4]
& 5% 2 JUHF T O] |BEE |REeE| B OE
k| X H B F 545 EEH | 85”30 4 1
1
H
<[EE> No43/\FE 2 FLF250m

10



